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& B BR 13 £k 42 48 90 20.4 69.6
AR BERR (Rth Bk 52 49 101 31.2 69.8
311 e B Bk 43 45 88 18.0 70.0
Af1 7 N | Bk 44 49 93 22.8 70.2
51 =5 =i Bk 39 43 82 10.8 71.2
641 Bt BR £k 48 40 88 16.8 71.2
[4iva i EfT B 48 51 99 27.6 71.4
811 ELRE & e 37 37 74 2.4 71.6
9L EH A= £k 46 49 95 22.8 712.2
1013z ER  —al e 42 39 81 8.4 72.6
1141 AR =T B 45 48 93 20.4 72.6
12131 NFEF B £k 43 47 90 16.8 73.2
1311 fE4RK —H| e 41 48 89 15.6 73.4
1441 =H £7 £k 46 49 95 21.6 73.4
15131 H IEA e 47 48 95 21.6 73.4
1641z MHE =% e 50 51 101 27.6 73.4
1711 KA Bh £k 61 51 112 38.4 73.6
1811z (St £k 44 43 87 13.2 73.8
19111 e A £k 49 50 99 25.2 73.8
201z it &= £k 51 41 92 18.0 74.0
2111 N+ =28 £k 62 54 116 42.0 74.0
2211 FH EFH £k 46 45 91 16.8 74.2
23{i1 FE 1&H & 52 45 97 22.8 74.2
2441 B & £k 46 44 90 15.6 74.4
2501 BT £k 47 55 102 27.6 74.4
2611 HwRK BE £k 49 46 95 20.4 74.6
2711 BR BIT £k 45 50 95 20.4 74.6
2811 ER EE £k 48 47 95 20.4 74.6
2911 Bk R £k 52 48 100 25.2 74.8
301z AN £k 51 49 100 25.2 74.8
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311z B H*=E Bk 55 51 106 31.2 74.8
321 B EHH £k 64 60 124 49.2 74.8
331z =E 23 Bk 47 46 93 18.0 75.0
3411 NS -2 Bk 45 48 93 18.0 75.0
351 B — Bk 46 47 93 18.0 75.0
361iL xR E& £k 49 50 99 24.0 75.0
371iL WA g B 49 50 99 24.0 75.0
381iL DI e 45 47 92 16.8 75.2
391z FE == £k 47 50 97 21.6 75.4
404z mwe = £k 52 51 103 27.6 75.4
4141 kR BEk £k 45 39 84 8.4 75.6
4241 IR R B 44 46 90 14.4 75.6
431 WEE Fi £k 47 43 90 14.4 75.6
4441 iN /NI PN £k 49 47 96 20.4 75.6
451 - oVARE £k 50 51 101 25.2 75.8
4611 =H BB £k 53 48 101 25.2 75.8
ATHL NG HESE £k 59 54 113 37.2 75.8
481 TN Bz £k 44 44 88 12 76.0
4911 H £k 49 45 94 18 76.0
501z Al =2 £k 49 51 100 24 76.0
511 BE —Xk £k 47 46 93 16.8 76.2
52{iL ANTTRN=E oy £k 50 49 99 22.8 76.2
531iL BH HRKFE £k 53 52 105 28.8 76.2
b4L WA B £k 57 54 111 34.8 76.2
550 IWH BX £k 58 59 117 40.8 76.2
56111 ERE £k 44 42 86 9.6 76.4
571iL ) IE3E £k 45 47 92 15.6 76.4
581iL =E W £k 47 45 92 15.6 76.4
591 EEE REE £k 52 46 98 21.6 76.4
601z 1E Sl £k 54 50 104 27.6 76.4
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6111 RN HESE Bk 51 53 104 27.6 76.4
6211 NS o Bk 45 46 91 14.4 76.6
631iL BE Bk 51 46 97 20.4 76.6
6441 BRI £k 48 49 97 20.4 76.6
6511 B/ ZF&sE Bk 45 52 97 20.4 76.6
6611 A R 1E £k 54 49 103 26.4 76.6
6711 =B M B 46 44 90 13.2 76.8
681iL ER BB £k 49 47 96 19.2 76.8
6911 A FE £k 48 48 96 19.2 76.8
701z BB fE— e 53 49 102 25.2 76.8
7141 AR HE £k 51 51 102 25.2 76.8
7241 g & £k 60 66 126 49.2 76.8
7311 BR HE e 44 45 89 12 17
7441 NE A £k 49 52 101 24 17
7511 FE RE e 55 52 107 30 17
76111 it —%F 2 42 46 88 10.8 77.2
kv KiE 5L £k 49 51 100 22.8 77.2
7811 e fE1E e 49 51 100 22.8 77.2
7911 BB (B Bk 50 50 100 22.8 77.2
801z xR £k 62 62 124 46.8 77.2
8111 AME B £k 46 47 93 15.6 17.4
821 BN fReEZ £k 46 47 93 15.6 77.4
831iL B FIR £k 47 52 99 21.6 77.4
84131 2l FA £k 50 55 105 27.6 77.4
8511 WHE Mr4i £k 43 43 86 8.4 77.6
86111 PUES £k 51 53 104 26.4 77.6
871iL ERE UL £k 52 52 104 26.4 77.6
881iL AR =N & 44 47 91 13.2 77.8
8911 T £k 43 48 91 13.2 77.8
9013z AR BZ £k 43 48 91 13.2 77.8
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911 kR @i Bk 47 50 97 19.2 77.8
921iL /NE= = Bk 50 53 103 25.2 77.8
931iL HEy IR#A Bk 53 50 103 25.2 77.8
9411 HEE 5T Bk 57 58 115 37.2 77.8
95 hNE RE Bk 59 62 121 43.2 77.8
96111 kg = £k 46 50 96 18 78
9741 NEFF BRER £k 48 48 96 18 78
981iL ZH =& £k 49 47 96 18 78
9911 BB = £k 53 49 102 24 78
1001z PR A £k 47 55 102 24 78
1011z m/ll =t B 49 53 102 24 78
1021z A A B 54 54 108 30 78
1031z BR IX £k 57 63 120 42 78
1044z Vel=UIN i) £k 44 45 89 10.8 78.2
1051z Fias B £k 49 46 95 16.8 78.2
1061z NER AF £k 49 52 101 22.8 78.2
1071z e EEE £k 50 50 100 21.6 78.4
1081z FE HIT £k 51 49 100 21.6 78.4
1091z =49F EE e 56 50 106 27.6 78.4
1101z BE #eic £k 53 65 118 39.6 78.4
1111z IR EEZ e 48 45 93 14.4 78.6
11211 XE B £k 51 48 99 20.4 78.6
1131 #BH = £k 54 51 105 26.4 78.6
11441 BAIER AR £k 50 55 105 26.4 78.6
1154z ERE thE £k 54 51 105 26.4 78.6
1161z Bl BXTF £k 50 61 111 32.4 78.6
1171z A K £k 60 63 123 44.4 78.6
1181z YT T2 Bk 48 50 98 19.2 78.8
1191z KK & £k 48 56 104 25.2 78.8
1201z =R Kb £k 57 59 116 37.2 78.8
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1211z 1B BB £k 53 50 103 24 79
12211 BUE U Bk 53 50 103 24 79
1231 FE ORE Bk 56 59 115 36 79
12441 B AR £k 51 51 102 22.8 79.2
1251 T BR Bk 48 54 102 22.8 79.2
1261z NE M B 49 46 95 15.6 79.4
12711 HE & B 46 55 101 21.6 79.4
12811 BmAR F e 51 50 101 21.6 79.4
12911 Il =M ER £k 53 54 107 27.6 79.4
1301z MNE fEM £k 54 59 113 33.6 79.4
1311z e B B 44 44 88 8.4 79.6
13211 A fRIR B 52 60 112 32.4 79.6
1331z BE Bk £k 57 55 112 32.4 79.6
13441 e B £k 55 50 105 25.2 79.8
1351z BR S e 51 54 105 25.2 79.8
1361z #o8R 4B e 48 57 105 25.2 79.8
1371z e B £k 55 56 111 31.2 79.8
1381z Y VN £k 65 64 129 49.2 79.8
1391z R = e 47 51 98 18 80
1401z S HwE £k 51 47 98 18 80
14111 B EE e 54 50 104 24 80
14211 HRE thZ” Bk 56 48 104 24 80
14311 =H AR Bk 53 51 104 24 80
14441 mH EZ £k 58 58 116 36 80
14511 AR fH— Bk 67 55 122 42 80
1461z P ExF £k 49 54 103 22.8 80.2
14711 H XA £k 53 56 109 28.8 80.2
14811 —fEE @t Bk 59 50 109 28.8 80.2
14911 i KE £k 65 56 121 40.8 80.2
1501z AR & £k 45 45 90 9.6 80.4
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1511z AR &5 Bk 51 57 108 27.6 80.4
15211 (e NI = Bk 60 54 114 33.6 80.4
1531z B ER Bk 61 59 120 39.6 80.4
15441 FEE FN £k 59 61 120 39.6 80.4
1551 Al E—ER R 62 64 126 45.6 80.4
1561 58 Bt B 59 54 113 32.4 80.6
15711 )l A £k 59 54 113 32.4 80.6
15811 /IR BA £k 46 48 94 13.2 80.8
15911 RS EE £k 62 62 124 43.2 80.8
1601z FEE B2 e 61 69 130 49.2 80.8
1611z AR RiE £k 51 54 105 24 81
16211 BrIER AR B 51 47 98 16.8 81.2
1631z Eias BE £k 50 60 110 28.8 81.2
16441 P &IT £k 61 61 122 40.8 81.2
1651 FE EX £k 52 51 103 21.6 81.4
1661 BR B e 54 55 109 27.6 81.4
1671z KA B £k 54 61 115 33.6 81.4
1681z hg mZ £k 54 60 114 32.4 81.6
1691z FE —1B £k 62 52 114 32.4 81.6
1701z BRE BCZ £k 56 57 113 31.2 81.8
17114z I EE £k 51 55 106 24 82
17211 S ] Bk 56 62 118 36 82
1731z B4R ZR £k 58 64 122 39.6 82.4
17441 Al | £k 50 47 97 14.4 82.6
1751 IR B £k 50 53 103 20.4 82.6
1761z A BE £k 53 43 96 13.2 82.8
1771 HFH K= £k 63 55 118 34.8 83.2
1781z =iE B £k 103 63 166 82.8 83.2
1791 HE F £k 44 49 93 9.6 83.4
18013z A EMR £k 50 49 99 15.6 83.4
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1811z L RE Bk 62 55 117 33.6 83.4
18211z JRE s £k 59 58 117 33.6 83.4
18311z <% 0 £k 53 50 103 19.2 83.8
184411 Bl RE £k 54 55 109 25.2 83.8
18511z A HE £k 49 58 107 22.8 84.2
18611z EFRK EA £k 62 51 113 28.8 84.2
18711z B’ B’ £k 53 59 112 27.6 84.4
18811z & IKE B 50 62 112 27.6 84.4
18911z ER IEFH £k 58 60 118 33.6 84.4
19011z I EBA £k 66 62 128 43.2 84.8
1911z kg 5 £k 56 61 117 31.2 85.8
1921z BEE F £k 65 63 128 42 86
1931z A =2 £k 65 62 127 40.8 86.2
19441 AT & £k 68 52 120 33.6 86.4
19511z Bl =2 Bk 62 64 126 39.6 86.4
19611z NEFEF HRAE e 71 79 150 63.6 86.4
1971z EER E e 57 52 109 21.6 87.4
19811z BR # £k 78 71 149 61.2 87.8
19911z g XA £k 51 59 110 21.6 88.4
20013z FE {RAER Bk 59 69 128 38.4 89.6
201101 B2 A £k 65 68 133 43.2 89.8
20211 kB MR £k 76 61 137 42 95
20311z R BAE £k 71 69 140 43.2 96.8
20441 INTTIE b1 £k 112 99 211 97.2 113.8




